Chapter 1 Review Exercises (pp. 56-57)
1, y=3(x~D+(-6)

y=3x~9
4'm=.:2..:..6_._.:.§=..2
1-(-3) 4
y=-2{x+3)+6
y=-2x
6. =573 2 2
~2~-3 -5 5
y=~=(x-3)+3
2,2
5 5

8, Since 2x - y=-2 is equivalent to y = 2x + 2, the slope
of the given line (and hence the slope of the desired line)
is 2.

y=2(x~3)+1
y=2x-5

10, Since 3x - 5y =1 is equivalent to y = %x ~—% , the slope of

the given lineis % and the slope of the perpendicular line

is -§'
2.
y=~~§~(x+2)w3
=3, B
373

Section 1.2 Exercises

5. (@) (—oo, =) or all feal numbers
(b) (-, 4]
(c)

7. (a) Since we require x — 1 2 0, the domain is [1, ).

(b} [2; e0)
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9, (a) Since we require x — 2 # 0, the domain
i8 (~oo, 2) W (2, o).

(b) Since
is (=0, 0) U (0, o).

! 5 can assume any value except 0, the range

11. (a) Since we require x # 0, the domain is
(o0, 0) LU (0, =)
1
(b) Note that 1 can assume any value except 0, so 1+ —
X x

can assume any value except 1.
The range is (~os, 1) (1, o0),

(©

mlxxt|x
-5 - L] 5

22. Neither; since the function is a sum of even and odd
- powers of x.

24, Even, since the function is a sum of even powers of
x()c2 ~3x° ).

26. Odd, since the function is a sum of odd powers of x.

28. Neither, since, (for example), y(-2) = 413 gpd
¥2)=0.

30. Even, since the function involves only even powers
of x.




Section 1.5

13. y=2x+3
y—3=2x
y-3

2
Interchange x and y.

x~3

—— Y

2
o=
Verify.
(Fof M= f(i‘——’zﬁ)
= 2(—%‘3)+3
={x~3)+3
=x

(Fof)x) = f1@x+3)
- (2x+3)-3

=x

X -

S

Interchange x and y.
. S5-x
y==7

N 5
o - -X
)= e

Verify.

(f°f"’Xx)=f(§i—x-]=5“4(
=5=(5—x)
=x
o fXn)=f1(5—4x)
_5-(5-4x)
4

5—x
4

)

15, y=x"~1
y4~1==x3
O+ =x

Interchange x and y.

(x+)P=y

= @+0" or¥x+1

Verify.

(forMmy=fAx+1)

. =@x 1P -1=(x+D)-1=x
(FrefXn=f1(-1

=Yt -p+1=P=x

16, y=x*+1,x20
y—l:xz,xzo
\}y-‘l:x
Interchange x and y.
"x;l .—'..y
FHE) =VJx—1 or (x~ 1)
Verify. For x 2 1 (the domain of f™),

(Fof Y= f(Nx-1)
=(x=1)? +1
=(x-D+l=x

For x> 0, (the domain of ),
FlofXn=f1G2+1)
= (x% +1)~1

=x? =lxl=x

33, (1.045) =2
In(1.045) = In2
tin1.045=m2

In2
”1n1,045%15'75

Graphical support;
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[~2,18) by [-1, 31

34, "% =3
In eO.QSI =3
0.05¢=In3

r=22 20132197
0.0

Graphical support:
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[-5,35]1 by {1, 4]

Section 1.6

17. (a) Period = %’i -

- (b) Amplitude = 1.5
(c) [-2m, 2] by [-2, 2]
18. (a) Period = 332
(b) Amplitude = 2

27 2w
(c) {."'"_3‘"1 "'5'} by ["‘41 4]

19. (a) Perioaz%’i:w

(b) Amplitude = 3
(€) [~2m, 2n] by [-4. 4]

20. (8) Period = =7 = 41
172

(b) Amplitude = 5
(¢) [-4m, 47] by [~10, 10]

21. (a) Period = 2" =6
wl3

(b) Amplitude = 4
() [-3, 31by [-5, 5]

22. (a) Period = -2?'"‘ =2

(b) Amplitude = 1
(©) [-4, 4] by [-2,2]




